Q2) Match Column A with Column B (Marks 5)

Column B .

E Bootstrap program One of operating system services B
Copying information into faster storage system
|

Is loaded at power-up or reboot
- - 2
Thread cancellation remains pending until thread enables it \ 4

4 | If thread state is disabled

ﬂ User interface

Q3) Choose only swo of the following,,

-2
M

then compare.. (Marks 5)

1- Independent &cooperating processes.
2- Bounded-buffer & unbounded-buffer.
3- Shared memory & message passing. (with drawing)

4- Many to one & many to many multithreading model.
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O}/ Your answer in the following table (Marks 5)
J
?
<
o
I. The socket | 61.25.19.8: 1625 SOR
(a) port 161.25.19.8 (b) host 1625
3 (@ host 161.25 19.g (d) host 1623
3 2. If parent terminated Wwithout invokjng wait, process js an e
- ))7 (a) zombie (b) fork
9 {e) Orphan (d) none
S implies a system can perform more thap one task sumultaneonsly
(a) concurrency (b) balancing
@) parallelism (d) splitting
4. DRM stands for--—....____
(@) decoder rights multiprogramming (b) Process control ok
5 Devica c(C) fe!g m‘f"; d multgo; ogramming . ) Digital rights Management
; : controtler informs Cpy that it has finished jts operation by causing ap -.___ e
@) Interrupt (b) Trap
(c) Pong (d) None
6. When one Process in criticg] section 0 T e
Al g e ther may pe i IS critica] section
@) (b) some
) NO (d) usually

7.A Solution o the critica.'—section
(a) avoiding

®bounded yygaj;
(e) mutual exclusion (4h B&C e

Problem myg¢ Satisfy the following —




